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PHYSICS

R/

+* Make a small thin notebook for doing the given holiday homework.

I.  Revise the content of all the chapters taught till now.
II.  Practice the solved and unsolved numericals of NCERT.
Ill.  Practice more numericals of similar type from other refresher books.
IV.  Solve PA1 one question paper in your notebook.
V. Attempt the given questions.

1) What is the nature of symmetry of electric field due to point charge and electric
dipole?

2) When an electric dipole is suspended in a uniform electric field, then under what
conditions the dipole is in (i) stable equilibrium and (ii) unstable equilibrium.

3) Using Gauss's theorem derive an expression for electric field intensity at a point due
to

(n A line of charge

(1) A uniformly charged thin spherical shell

(1) Aninfinite plane sheet of charge

(V) Two parallel sheets of charge with equal and opposite charge densities.

4) Justify that electrostatic potential is constant throughout the volume of charged
conductor and has same value on its surface as inside it.

5) Equipotential surfaces are perpendicular to field lines. Why?

6) A slab of material of dielectric constant K has the same area as the plates offer
parallel plate capacitor but has a thickness 3d/4. Find the ratio of the capacitance
with dielectric inside it to its capacitance without the dielectric.

7) Derive an expression for the electric potential at any point P at a distance r from the
centre of an electric dipole making certain angle with its axis.

8) Explain dielectric polarization, electric susceptibility and dielectric constant.
Establish a relation between them.

9) What is drift velocity? Establish a relation between current and drift velocity.



10) State Ohm’s law and deduce it from the knowledge of drift velocity of free electrons

in a conductor carrying current.
11)Show on a plot, variation of resistivity of (i) a conductor and (ii) a typical

semiconductor as a function of temperature.
Using the expression for the resistivity in terms of number density and relaxation

time between the collisions, explain how resistivity in case of a conductor increases
while it decreases in a semiconductor with the rise of temperature.

12) Two cells with internal resistances are connected in parallel. obtain expressions for
the equivalent internal resistance and emf of the combination.

Mathematics
Relations and Functions ]

1. Let the function if” : N — N be defined by
fix)=2x+3,%x e N.Then /" is
(a) not onto
(b) bijective function
(c) many-one, into function
(d) None of these
2. A relation defined in a non-empty set 4, having n

(1 mark)

10.

Lettheﬁmctionf:R—»Rbedcﬁnedby/(x)=cmx
% x € R. Show that f is neither one-one nor onto.
[NCERT Plcmplnrlﬂmuh)

. Determine whether the relation R defined on the set

R of all real numbers as R = {(a, b) : a, b € R and

a-b+ /3 ¢ S, where S is the set of all irrationa]

numbers}, is reflexive, symmetric and transitive.
[Ajmer 2015} (3 marks)

elements, has (1 mark)

(a) n relations (6) 2 relations 12. Given a non empty set X, consider P(X) which is the

@ selatiohe (d) 2* relations setofallsubsetsofXDcﬁnethcrelaﬁonRinP(X)as
follows: For subsets A, B in P(X), ARB if and only if

3. A relation R in human beings defined as
R={(a,b):a, b € human beings ; a loves b} is (1 mark)

AcB. lsRanequivalencerelationonP(X)?Justify
[NCERT] (G marks)

(il your answer.
o e and samsitive 13. Let A and B be sets. Show that f: A x B —> B x A such that
Sym' " f(a, b) = (b, a) is bijective function. [NCERT] (3 mmarks)
(c) equivalence 14. Let L be the set of all lines in XY plane and R be the relation
(d) neither of these in L defined as R = {(L,, ;) : L, is parallel to L,}. Show
4. A function f: R - R is defined as f{x) = x* + 1. Then that R is an equivalence relation. Find the set of all lines
the function has [CBSE 2021] (1 mark) related to the line y = 2x + 4. [NCERT] (5 marks)
(@) no minimum value 15. Let4 = {x € Z : 0 <x < 12}. Show that
®) mo B v R={(a,b):a,beA, la - b] is divisible by 4} is
(©) both . N wam———— an equivalence relatjcfn. Find the set of all elements
@ nci . it related to 1. Also, write the equivalence class 2L
S LetA={a, b, c} and the relation Rbe defincd on 4, 85 16, Let N denote the set of all m[mﬁ::::
s of oxdred e o oy 0 ey Tlalon 0 ¥ x N deined by 3, ) R (.
reflexive and transitive. [NCERT Exemplar] (2 marks) ::L(go: £=Je (a+d). Stiow thet R 38 i Squbeionis
6. Givenset A= {a, b, c}. Is relation R = {(a, c)} transitive? ‘ i
(2 marks) 17. Letf:N—)Nbedeﬁnedby
7. Prove that the Greatest Integer Function f: R — R, Btl e nisodd
given by f(x) = [x] is neither one-one nor onto. Where fm=1 2" foralln € N.
[x] denotes the greatest integer less than or equal to x. 3»if niseven )
NCERT)] (2 marks
AL SR ;nd o I ) State whether the function f'is bijective. Justify your
/= 1{(1,4), 2, 5), 3, 6)} be a function from 4 to B. SR [NCERT] ¢ airks)
18. Show that the function f: R — fxeR:-1<x<1}

Show that f'is one-one. [NCERT] (2 marks)
9. Let f: N — N be defined by f(x) = 3x. Show that f is
not onto function. [HOTS] (2 marks)

defined by fix) = —X

1 X€R is one-one and onto
function. +x|

[NCERT] (5 marks)
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In the following questions, a statement of assertion (A4) is

followed by a statement of reason (R). Choose the correct
answer out of the following choices.

(a) Both 4 and R are true and R is the correct explanation
of A.

(6) Both 4 and R are true but g is not the correct
explanation of 4.

(c) Ais true but R is false.

(d) A is false but R is true.

1. Assertion (4): Inset 4 = (], 2, 3} a relation R defined
as R={(1, 1), (2, 2)} is reflexive.

1. A general election of Lok Sabha is a gigantic exercise.

About 911 million people were eligible to vote and voter
turnout was about 67%, the highest ever

ONE - NATION
ONE - ELECTION

FESTIVAL OF

DEMOCRACY
GENERAL ELECTION —
2019

Let 7 be the set of all citizens of India who were eligible
to exercise their voting right in general election held in
2019. A relation ‘R’ is defined on / as follows:

{R = {(V,, V,): V,, ¥, e I and both use their voting
right in general election — 2019}

(7) Two neighbours X and Y € I. X exercised his
voting right while Y did not cast her vote in
general election-2019. Check whether Xis related
to Y or not.

(if) Mr. ‘X and his wife ‘W both exercised their
voting right in general election-2019. Show that
(X, W) e Rand (W, X) € R. .

(iii) Three friends F), F, and F exercised their voting
right in general election-2019. Show that
(F), F,) € R, (Fy, F,;) e Rand (F), F;) € R.

OR

Show that the relation R defined on set / is an
equivalence relation.

Relations and Functions

Reason (R): Arclation R is reflexive inset 4 if (a,a) € R
foralla e A.

- Assertion (4): In sct 4 = {a, b, c} relation R in set 4,

given as R = {(a, )} is transitive.
Reason (R): A singlcton relation is transitive.

- Assertion (A): Givenset 4 = {1,2, 3, ... 9} and relation

Rin sct A4 x Adefined by (a, b) R (¢, d) ifa+d=b +c,
be an cquivalence relation. The ordered pair (1, 3)
belongs to equivalence class related to (5, 3)]

Reason (R): Any ordered pair of 4 x 4 belongs

to cquivalence class [(5, 3)] if (x, ¥)R (5, 3) V
(x,y) e A xA.

. Sherlin and Danju are playing Ludo at home during

Covid-19. While rolling the dice, Sherlin’s sister Raji
observed and noted that possible outcomes of the throw
every time belongs to set {1, 2, 3, 4, 5, 6}. Let 4 be the
set of players while B be the set of all possible outcomes.

A=1{S,D},B={1,2,3,4,5, 6}
(®) Let R : B — B be defined by R = {(x, y) tyis

divisible by x}. Show that relation R is reflexive
and transitive but not symmetric.

(i7) Let R be a relation on B defined by R = {(1, 2);
(2,2),(1,3),(3,4), (3, 1), 4, 3), (5, 5)}. Then
check whether R is an equivalence relation.

(i7) Raji wants to know the number of functions
from 4 to B. How many number of functions
are possible?

OR

Raji wants to know the number of relations

possible from 4 to B. How many numbers of
relations are possible?
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Inverse trigonometric functions

1. Principal value of the expression cos

" [cos(~680°)] is
2n 2n
(@) 394 ®) ‘T
24z n
(©) 9 (d) 9
2. It x = sin( == ), then x §
2 18 equal to
Sn
Q] 7 ®) 1
3 n
© 2 @ 4

3. Find the principal value ofeos“(coslsﬁ).
Write the principal value of each of the following
(Exercises 4 to 9):

o srt(-22)

2 INCERT Exemplar; DoE)

-

5. sec’'(-2) [DoE|
6. m*'(%)-zm"(--;-). [Delhi 2012]
i3
l —_—
af 2
8. sec” -—)
/3
1
9 W'(-Tz) [NCERT]
10. Findﬂzevahcofun“lzcos(hin"-;-)] INCERT]

. Find the value of tan™'(1) + m"(—%)*ﬁfl(—%)

INCERT]

1. The principal value of sin”'(sin _Zsi) is (1 Mark)
@ % ®) %
© —% @ 5
2. Thevalueofcos™( ) +3 sin! () is equal to
() ss(Gseman
@5 ® %
©% @2
3. The greatest and least values of (sin™ x)? + (cos™ x)?
are respectively (1 Mark)
2 2
0iZ Wi
2 2
R

4. mvalneofsin% — sin(sec”t + cosec™), when [f 2 1.
[CBSE Learning Framework| (1 Mark)
®) -1
@ -2

@o
1
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5. Shown below is graph of function °f” whose domain
is R — (-1, 1) some portion of graph is hidden behind
square.

Y

v
v
Which of the following is ‘f{x)’? (1 Mark)
(a) tan'x ) cot™x
(c) sec™x (d) cosec™'x

6. cot™x = cos'(-1) - eosec"(i)

/3
1
-3 o iy
Based on above find tan (x)mgtheprmcxpalvalue
of inverse trigonometric function. Show your work.
(2 Marks)



Inverse trigonometric functions

7. Find the domain of the function:
fx)= %sec“(Sx -3) (2 Marks)
8. Find the range of principal value branch of the function:
£x) =3cos™! (;l_—l) — 2. Show your work. (2 Marks)

9. Find the principal value of cosec 1(2). INCERT|(2 Marks)
10. Evaluate tan™" {sin(— -g—)} INCERT Exemplar}(2 Marks)
.l
11. Write the value of cos™ (- %) +2sin™ (E)
[Foreign 2014] (2 Marks)

12. Wirite one branch of sin~'x other than the principal branch.
(2 Marks)

13. Find the principal value of tan™ (— 1) [NCERT}(2 Marks)

i inci f cos™ cos 1
14. Find the principal value of ¢ )

[NCERT; HOTS] (2 Marks)

15. Find the value of sin(l sin"%)- [Foreign 2013} (2 Marks)

o 9
16. Find the value of tan '(tan—sn-)
[NCERT Exemplar; Foreign 2013 (2 Marks)
. = 3n
17. Write the principal value of tan l(tan—“—)
[NCERT; HOTS] (2 Marks)
P | 17
18. Find the value of sin™ | sin —3 I
[CBSE 2020} (2 Marks)

19. Find the principal vamofm"(tan%’i). (DoE] @ Marks)

e ————————

ASSERTION AND REASON QUESTIbNS |

In the following questions, a statement of assertion (4) is
followed by a statement of reason (R). Choose the correct
answer out of the following choices.

(a) Both A and R are true and R is the correct explanation
of 4.

(b) Both 4 and R are true but R is not the correct
explanation of 4.

(¢) A is true but R is false.
(d) A is false but R is true.

1. Assertion (4):Inverse of sine function exists in interval
[0, =]
Reason (R): sin”’ function becomes bijective if we
restrict its domain to [—1, 1].
e E w
2. Assertion (4): Principal value of tan™'(-1) is e

Reason (R): The range of principal value branch of

i

tan~" is (‘7" 2) and tan(—x) = —tan x.

CASE-BASED QUESTIONS

1. B

Two men on either side of a temple of 30 metres high
from the level of eye observe its top at the angles of
elevation o and P respectively. (as shown in the figure
above). The distance between the two men is 403
metres and the distance between the first person A and the
temple is 30v/3 metres. Based on the above information
answer the following:

() Find £CAB and ZACB (i) Find ZABC

(i) Find the principal value of sin™ {sin(a + %ﬂ-)}
OR
Find the principal value of cos™ {cos(ﬂ + %)}
2. Letf: A — B be a bijective function then /™ : B >4
is a function such that f[f!(x)] = x ¥ x € B and

S'f®)] =x ¥ x € A. For ensuring bijectivity, domain
of trigonometric function are restricted.

Based on the above information, answer the following
questions:

(?) Find the value of sin™'(sin 10).

(i) Findthevalueof tan™" (‘ / ﬂ‘—)iﬁ) ifxe (-mm):
1+cosx

(i) Find the value of function sin(tan™ ).
OR
Find the value of function cos[cosec™ (¥)]-
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Inverse trigonometric functions

Solution of tan™'x — cot™Ix = tan=1{—_) ;
1. n”'x ~ cot™'x = tan (/3> is 18, cos{.;i - cos"(%)} 19, seci(tan™ 2)

@ -3 ® - .

/3 20. cos"(cos—;—t-)
© V3 @ ——L
5 iy /3 21. tan™' {cos 7}

2. f @ <2 sin"'x + cos™'x < B, then o and B are :

@a=0,B=mn ®) a=mp=0 22. Find the value of sin{Z cot"(— i)}

- i i 12
@ 2’ p= 2 @ a= 2 B= ) In the following questions, a statement of assertion (4) is

Iftan~'x = ll for some x € R, then the value of cot! x is followed by a statement of reason (R). Choose the correct
answer out of the following choices.

n 2n 3n 4
a) - () — = i
@ 5 ®) 5 © 5 @ 5 (a) Both A and R are true and R is the correct explanation
4. The principal value of tan“(lan%) is ex
- e 1: 3 (b) Both 4 and R are true but R is not the correct
(a) T ) T (©) -3 @ —Tn explanation of 4.

[CBSE 2021] (c) A is true but R is false.

5. The principal value of cos™ (l) + sin"(-%) is (] A DR e

. 23. Assertion (4): The domain of the function
n 7 >
a) — b) n = x x
(a) 12 ®) © 3 @ 3 ) = cos¥(3x + 1) is [72’ 0]
|CBSE 2021] ) L
6. Show that sin"'( / %) = %cos"%. Reason (R): Domain of cos™ is [-1, 1]
24. Assertion (4): sin"'(~1.0001) is defined.
Write the principal values in Exercises 7 to 10: i .
/3 Reason (R): Domain of sin"x is [-1, 1].
7. cosec”!(2) 8. cos™ (— 73) i
25. Assertion (4): Principal value of sin"(sin—) fouls:
_1 | 3n 18 18
9. tan”'(~ /3) 10, tan”(tan o
. § , 13: Reason (R): Domain of principal value branch of sin™
Write the value in Exercises 11 to 13: is [1, 1].
-1 + sec”! .
1. e (2] Saec (2] 26. Assertion (4): The range of principal value branch of
) 2n i | 2n T
12, cos l(cos—) + sin (cos—) i [_ Tal_ o
3 3 cosec™ xis 22 {0}
13. tan'(¢/3) + cot™! (_1_) G Reason (R): Domain of principal value branch of
/3 cosec™'x is [-1, 1] - {0} ‘
14. What is the domain of the function cosec™ x? 27, Ateacher gives a table of the domain and range of inverse .

trigonometric functions to the students and told them

15. Write one branch of tan™' x other than the principal
that when we dealing with the inverse trigonometric

branch.

Evaluate in Exercises 16 to 27: functions, we need to careful about their range, which

43 " o is defined from restricted domain of trigonometric
16. sin“{cos(sm 5)} 17. cosec  COSeC| =7 functions.
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1. 1fA=[5 x]a.ndA'—’A'then
y 0

(@) x=0,y=5 ®) x=y
(€) x+y=5 @ x-y=5
2. If a matrix 4 is both symmetric and skew symmetric
then matrix A4 is
(a) a scalar matrix
(b) a diagonal matrix
(c) a zero matrix of order n x n
(d) arectangular matrix.
3. If 4 is a skew symmetric matrix then 42 is a
(a) square matrix
(¢) diagonal matrix
(¢) symmetric matrix
(d) skew symmetric matrix
4. If 4 and B are two matrices such that their multiplication
is defined, then (4B)'

Matrix

10.

2 3 4 3
-3 0 B3 o
ol 3 0

0 -3
4 3 2 3
|0 -3 @ |0 -3
-1 =2 0 -3
=[-2 3 -1 0
. If4 ==l 1 2]ancl[?—[ 1 2],ﬂmﬁnd(,4'+23y.
INCERT,
0 -1 2
. Ismatrix 4 =| 1 0 -3 symmetric or gkey
=2 3 0
symmetric? Give a reason.
.IfA=[i :,provemaA-AfisaskewM

matrix, where A7 denotes the transpose of A.
IfA:[ : ; l,showthatA +Arisasynmeuicm

where A" denotes the transpose of matrix 4.

(ﬂ') A'B (b) AB 11. :::;rit:;e matrix A, show that 4 +Arisa Syﬂmors-
(c) 4B’ (d) B4 ; i [HOTS]
01 1 o Py T 5
S. For the matix X=|1 0 1‘,(X2—X)isicnsmoz1] 15, Ndxd 330 ; _:*Illsglvmtobesymﬁ:ﬂ
110
@2 ® 33 @1 @ 51 e °f;‘mdb' [Delhi 2016]
o o 12 g 13 MA=| 20 B=[-2 _1 _4], verify that (4By = B4
6. For two matrices P= [-1 2 andQT=’ . 3 3], 3
0 1 '
S [CBSE 2021]  14. IfA= f:fnz :’;Z] verify that 44’ = I
_| cosx sinx . T ]
R R
(1 Mark) 1
@) F&) (®) Fly) @ |3 @ l ; g]
- 0 s
2
(©) Fix+y) (@) Fx-y) 0 o i
2 mmiumﬁsﬁesmeequaﬁon[_‘; ?],4:[:) ;)] 3. IfA=(1) (1) g"mt,sismw @ 3o
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P

h

10.

12.

14,

1.

.IfA=[

.If[9 -1 4]=A+[l 2

Matrix

3 1

2 .
L 2])&1@111‘ —SA-71is

(1 Mark)
(a) a zero matrix
(c) diagonal matrix

(®) an identity matrix
(d) None of these

. If a matrix has 28 elements, what are the possible orders

it can have? What if it has 13 elements?
INCERT Exemplar] Marks)

. Construct a,,, matrix where, a, = |-2i + 3j].

INCERT Exemplar] (2 Marks)

12
IfA=[a]= [3 4] and B = [5,] = [3 2], then find

a5,

P (2 Marks)
-1
0 4 9

[Delhi 2013] (2 Marks)

2 1 3 ], then find the

matrix 4.

. Find the value of x + y from the following equation:

R L O V]

[NCERT: Bhubaneshwar 2015; Al 2012] (2 Marks)

y 0[5 s
+[1 2]'[1 8

[Delhi 2013(C)] (2 Marks)

, then write the value

1 3
If2[0 o

of (x +y).

. Simplify

tan6 sec®

-secO]
tan® ;

tan©
(2 Marks)

tan® 0 —tan6
—secH = —secO

Solve the following matrix equation for x,

[x 1] [_21 g] =0. [Delhi 2014) (2 Marks)

_[2 4 -2 3 find (34 - B).
.IfA—[3 2]andB—[3 4].then (

[Guwahati 2015] (2 Marks)

Write the element a,, of the matrix 4 = [@y) 34y WhiosE
elements a, are given by @, = £ sin jx.
[Punchkula 2015} (2 Marks)

Write a 3 x 3 skew symmetric matrix.
[Chennai 2015) @ Marks)

16.

18.

20.

21.

22.

23.

24.

25.

_| 135 _ap_|4 5 -9
1f4 [_2 : 7]and2.4 3B [1 4 3\,&,‘1&
(2 Marks)

b 4

. Findx,if [x 11[_2' _‘3’"3]=o.m«m;(zmx.)

2 0 1
IfA=|2 1 3| findA*-54+ 16l
1 =19 Patns 2017 (3 Marks)
2 3
-lfﬂx)=x’-4x+1.ﬁmi/(,4),wne.“=[l 2].
G Marks)
Find the matrix X such that,
2 -1 -1 -8 -10
0 1ijx=|3 4 0f. 1157~ (@ Marks)
-2 4 10 20 10

If A is a square matrix such that 4> = 4, show that

(I+ A =TA+L [NCERT Exemplar: \I 2013 @ Marks)

1 0 2lix
Findx,if[x -5 -1][0 2 1||4|=0.
2 o 31
INCERT! @ Marks)
0 -tmZ
4= 2| and Iis the identity matrix of
tan 0
2
order 2, show that
1+4=0-0)|=° ‘““]
sma cos
INCERY| (5 Marks)
2 01
IfA=|2 1 3| find 4°- 54 +4/and hence find a
1 -1 0

matrix X such that 42 - 54 + 41+ X = O.
|Delbi 2015) (5 Marks)

2 -1 1
For the matrix 4 = -1 2 -1}, show that
1 -1 2

A? - 54 + 41 = 0. Hence find 4.
[Guwahati 2015) (5 Marks)
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- — Determinants

1. 4 and B are invertible matrices of the same order such 7. Determinant of a non-singular matrix P of order 2 is 12.

that |(4B)™"| = 8, If |4] = 2, then |B| is

@ 16 B4 ©6 @ L

16°

- _|cos® -sin@ L
.Ifd= prings coseJ,thcnad)Als

cos® —sin6 -sin® cos®
@ [sine cos 6 ®) [ cos® sin@
cos® sin6 sin @ cos 6
© [—sin 8 cos® @ [cos 0 -sin@
3. The matrix [?:;J’: g] is singular matrix, for k equal to
@0 ®) -1
1 (d) no value of k

4. If the value of a third order determinant is 7, then the
value of a determinant formed by replacing each element
by its cofactor will be

@7 ®) -7
() 49 @ 14

5. The values of ‘x” for which g —Z' =x? - 12x are
(a) -2, 14 ) 2,-14
(c) 2,-14 (d) None of these

6. For what value of x, the matrix [5 o w2 1} is singular?

Find the determinant of 7.
8. If 4~ 34 + I = O and 4 is a non-singular matrix, then
write 4™ in terms of / and A.

9. If the value of third order determinant is 12, then find
the value of the determinant formed by its cofactors.

10. 54=|% Oanda?=| ! 9 find the vaue of x.
x x -1 2

11. ForA=[13 _leritcA". [CBSE 2020]
911 A*-31

12. Find4™L,if4=[1 0 1 andshowdm[’=—2-.
110

[NCERT Exemplar]

1 -1 2
13. Find theadjointofmam'x[ 2 3 Slam'lvetifyttm
-2 0 1

A(adj 4) = (adj A)4 = |A|L [NCERT]
1 0 ()}

14. Find the inverse of matrix |0 cosa@ sina |. [NCERT]
0 siha —cosa
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Determinants =~

= 2 3 5
1
-1 22 0 _ e o
.3 s|| 9 2 -3|tosolve the 4. If4= ‘C: 21 —4), find 4. Hence using 4~ sojy,
2 - =
1. Use product |0 N
3 -2 4| 6 1 -2 the system of equations 2x — 3y + 5z = 11;

=1;2p-3z2=1;
system of equations ¥ =¥ +2z= Ll dy 3x+2y-4z=-5;x+y—2z=-3. [CBSE 2020; Al 2017

]

Br-gyrde=? §  5.1fd= ; 21 i find A~ and he I
i following system o . £ =l = nce solve th
5. Using matrix method solve the fo g sy i 2 3 - e
linear equations: x -y +22 =T, 3x +4y -5z =-5, system of equations x + 2y + 52 = 10; x -y 7 = 3,
x—y+3z=12 INCERT: Delhi 2012] and 2x + 3y —z=—11. [Foreign 2017,
: - 1 2 0
3. The cost of 4 kg onion, 3 kg wheat and 2 kg rice is ¥ 60. 6. IfA=|2 TP e —— .
The cost of 2 kg onion, 4 kg wheat and 6 kg rice is ¥ 90. 0 =2 1
The cost of 6 kg onion, 2 kg wheat and 3 kg rice is ¥ 70. of equations x — 2y = 10; 2x + y + 3z = 8; and
Find cost of each item per kg by matrix method. [INCERT)] —2p+z=1. [Foreign 2017)

% Do Holiday HW in a separate notebook.™

1 1 1+cos 7. If 4 is a square matrix of order 3 and |4| = -5, then
1. Maximum value of A= |1 1+sin@ 1 |,0is ladj 4| is (1 Mark)
1 1 1
125 b) 25 25 25
a real number is (1 Mark) @ ® © 1 id) 9
@ _1 (®) 2] © 3 @ _3 8. Let matrix X = [xij] isgivenby X=(3 4 5| Then
2 2 4 4 2 1 3
2. If 4 and B are invertible matrices then which of the o ey ;
following is tiok cogrect (1 Mark) the matrix ¥ = [my], where m; = Minor ofxq, is (1 Mark)
(@) AdjiA=4147"  (b) det(d™) = (det 4)™ 7 -5 -3 7 -19 -1
© WB'=B'4" @) U+By =4+ B gt ol B =

3. Let A be a non-angular square matrix of order 3 x 3,
then |4 . adj 4] is equal to (1 Mark) ; 19 -1 719 —li
@UF OU ©U @M Ll - s B N

-5 -1 -1 -3 -1l 7
4. Let 4 be a square matrix of order 3 x 3 and k a scalar,
then |k4] is equal to (1 Mark) . F 5.8 P—
@) kl4] ®) k14| 9. If x =—4 is a root of ; ch i = 0, then the sum
(© P4 (d) None of these the other two roots is (1 Mark)

S. "
Inydenotsﬂ:ecofactorofelementpyoftheman'le @) 4 ®) -3 © 2 @ 5

If points (2, 0), (0, 5) and (x, y) are collinear, then show

: L 2 10
T1° 2 -3 thenthe value of C;y Cpyis (1 Mark)
4

3 2 that-;—:+%=l. (2 Marks)
(@ 5 : %
i @G- @O 11. If 4 is a square matrix of order 3 and [34| = 7‘1‘4]' then
6. ifalfor :;.e matrix A= [ ‘; _2] IABI =125 men the write the value Ofk. (2 Ml)'b)
ue - = ’ ’ P W e,
@) i3ms 5 (1 Mark) 13, 4 isanon-singular matrix of order 3 and |4]| =—4.f1¥‘d
® 3 (© 1 @ 1 |adj 4. [HOTS) @ Msris)
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